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BACHELOR OF SCIENCE (B. Sc.)
Term-End Examination
December, 2023

LSE-12 : PLANT DIVERSITY—I

Time : 3 Hours Maximum Marks : 75

Note : Answer the questions as directed in the
Sections A, B and C. Draw neat and labelled

diagrams wherever necessary.

Section—A
Note : All the questions in this Section are
compulsory.
1. Fill in the blanks : 1x5=5

(a) The colour of red algae is due to the
presence of .............

(b) Bryophytes show ............. type  of
reproduction.

(c) Phytophthora infestans  belongs  to
Division...............

P.T.O.
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(d)

(e)
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Regeneration of whole plant from a single
cell is known as ............... .

The two “hot spots” of biodiversity in India

Which of the following statements are True
or False ? 1x5=5

(a)

(b)

(©

(d)

(e)

Prochloron is a prokaryotic alga which
contains both chlorophyll-a and b.

In Selaginella stem, trabeculae are formed
by pericycle.

Fungi prefer alkaline medium for its
growth.

Most lichens have basidiomycetes as the
fungal component.

Spores of Pellia start germinating inside
the capsule.

Match the items of Column A with the most

appropriate items of Column B : 1x5=5
Column A Column B
(1) Peat moss (a) Lycopodium
(1) Plurilocular (b) Lichen
sporangia
(i11) Club moss (¢) Blue-green algae
(iv) Fruticose (d) Sphagnum
(v) AKkinete (e) Ectocarpus
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Section—B

Note : Answer any six questions. All questions carry
equal marks.

4. List the uses of algae as biofertiliser. Explain
with examples. 5

5. Draw well labelled diagrams of any two of the
following : 2 % + 2%
(a) T.S. stem of Equisetum
(b) L. S. capsule of Funaria

(¢) Ultrastructure of a prokaryotic cell

6. What are slime moulds ? How would you
classify them ? Explain with examples. 5

7. Differentiate between the following : 2 % + 2%

(a) Holocarpic and Eucarpic fungi

(b) Heterocyst and Akinete

8. Write short note on any one of the following :
5

(a) Describe the evolution by endosysmbiosis
with the help of a diagram.

(b) What are sclerotia ? How are they formed ?
Explain.

9. Briefly describe the sexual reproduction in
Sphagnum. 5

P.T.O.
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10. What are Lichens ? Describe the vegetative

11.

12.

reproduction in lichens. 5

Discuss the criteria used while classifying the
algae. Also mention the major divisions of
algae. 3+2

How are fossils formed ? Classify different
types of fossils on the basis of nature of
fossilisation. 3+2

Section—C

Note : Answer any three questions. All questions

13.

14.

15.

16.

17.

carry equal marks.

Define Telome theory. Explain five elementary
processes involved in evolution of shoot axis

and leaves. 10
Describe the evolution of sporophyte in
bryophytes. 10

Differentiate between Apogamy and Apospory.
List five factors which favour the induction of
apogamous sporophytes, citing examples. 10

Describe the common methods of vegetative
reproduction in fungi. 10

Giving suitable examples, discuss the origin
and evolution of sex in algae. 10
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(9) FAHTEH GohR T T ST €
(9) WIZENeRT hee, fediem (gamr)
| T WRH B

(%) T HIFTRT ¥ JUI IRT T GAGAIRA
HEa 2

(F) 9@ ® Sefafgu@ & @ ‘7l e (gE
T R 2l

frfafad § ¥ ®H-9 ®oF ¥ ¢ 3 HiA-9

A ? 1x5=5

(M) JFARA Tk qdh=an! Yo ©  foed
FARFe  (Wisf@)-s1 iR & I W
Eicid

(&) fefier a8 | geltergenn 99 g sd 21

() Fask Aol gfg o foau amenta weaq &l
CHE G

(T) ARSI @bl § Hashid Toeh & €9 H

SHifeamEfaes 2 <l

(7) dfear & o] hEE (FYE) ® SN
AT 3N FT 2 2
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3. HicdH ‘3T’ & 3MISH k] HiaH ‘'S’ & AFeH 9

Tel e sifvg . 1x5=5
hicH HieH o
@ e g (@)  erEhiTifeam
(i) wgwrgent ey () TR
far
(1i1) FId |i" (© Hra-gla dard
(iv)  effyet (d)
() e oS ONR CoiCcaeic
Yues—9d

e . fF=l B g9 & S W 99T g H
FF T B
4, SISdH & €9 G Jarell F IT Fl gEs
FHIFT| 5Th! S0 Wied THEAE 5
5. fafafes 5 @ fFdf &1 & gawifea T
AT 2= +2-
(37) TFETGIeq & T &l STYE-h1e (3. TH)
(F) AR & A H STIRH-wE
(T To.)|
(9) T Jech-5h! HIFRTRT i TUEE

P.T.O.
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6. Uk WEHS N B 2 AT TR fRE YA
atiehd N ? LU Hied HHABY 5

o o o

7. Trefafed & &9 =< 9dr= 2%+2%

(31) quishTathicieh 31X SASTehTathicteh e

() B @ik frveee i)

8. fafafed # o fodl wer W oy feuoh
fafaT - 5
(3Nfed &I Ea ¥ Hd:Fesied & gW

faeta @1 auiA Hifsg
(9) TRIEE #1 € ? 3 fh9 TR o794 © ?
fae=m sifsuy

9. THIE H Wik UsA *1 dfered guie wifsa 5

10. SEhT R & ? ogehl § hifdeh S 1 UM
i 5
11. Staretl & iRl @ faw 3w ferw w9 9
HHI/ER 1 faa= HIfu) et & yq@
YIFT & A9 ot FaEu) 3+2

12. S{TeT9H & S9d © 7 SIawH w1 GHid &
MR W fafy= y&R & SHarwdl &1 arfteto
HITST| 3+2
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WUE—T
T :  ferdl @7 g & SW AT 94 gV P
3TF I &l
13. Aem fagra =1 giwfid Sifw gig a1y @ik
ufqal & faem §  witmfoq  ufer 9Rfes

gfshasT i THEATSU 10
14. SRR H Aemongfag & foewm w1 aue
hITSTT| 10

15. SIGEA SR SYSSIUMT & o <R oaqzyl T8
uTe HRH w1 3T dfeqd geAEg wifSw S
AT AR & o1 i IRa & 2

10

16. Tkl H HIfIh ST 1 GE fafa=i w1 oo
Hif| 10
17. Serell o o *1 S IR faew #1 SugE
3ereen gfed fad=m sifsu 10
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